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Data Nilai Perolehan Hasil Tes Akhir
Siklus II

	No
	Nama Siswa
	Nomor/Bobot Soal
	Skor
	Nilai
	Ket

	
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	
	
	

	
	
	3
	2
	5
	5
	2
	4
	5
	2
	4
	3
	
	
	

	1
	ANA
	3
	0
	5
	4
	2
	4
	4
	2
	4
	3
	31
	88,57
	Tuntas

	2
	AKNA
	2
	1
	2
	4
	2
	3
	4
	2
	4
	2
	26
	74,28
	Tuntas

	3
	ADF
	3
	1
	4
	4
	2
	4
	4
	2
	4
	2
	30
	85,71
	Tuntas

	4
	AMR
	3
	1
	5
	5
	1
	3
	5
	1
	2
	3
	29
	82,85
	Tuntas

	5
	AFH
	3
	2
	2
	3
	1
	3
	5
	1
	3
	3
	26
	74,28
	Tuntas

	6
	CR
	3
	1
	5
	4
	1
	0
	5
	0
	4
	3
	26
	74,28
	Tuntas

	7
	FM
	2
	1
	2
	2
	1
	4
	2
	1
	3
	3
	21
	60,00
	Tidak Tuntas

	8
	FA
	3
	1
	3
	4
	1
	3
	4
	2
	4
	3
	28
	80,00
	Tuntas

	9
	JLD
	3
	1
	2
	5
	2
	4
	5
	2
	4
	3
	31
	88,57
	Tuntas

	10
	MAR
	2
	1
	5
	5
	1
	3
	5
	1
	4
	3
	30
	85,71
	Tuntas

	11
	MG
	3
	2
	2
	4
	1
	3
	4
	1
	4
	3
	27
	77,14
	Tuntas

	12
	MH
	3
	1
	5
	4
	0
	4
	4
	1
	4
	3
	29
	82,85
	Tuntas

	13
	MRA
	1
	1
	5
	4
	0
	4
	4
	2
	4
	3
	28
	80,00
	Tuntas

	14
	MAD
	3
	2
	3
	5
	1
	0
	5
	1
	2
	3
	25
	71,42
	Tuntas

	15
	MFA
	2
	2
	5
	5
	2
	2
	5
	2
	0
	3
	28
	80,00
	Tuntas

	16
	MRR
	3
	2
	2
	3
	2
	3
	4
	2
	3
	3
	27
	77,14
	Tuntas

	17
	MAA
	3
	2
	2
	4
	1
	4
	4
	2
	4
	3
	29
	82,85
	Tuntas

	18
	MAS
	2
	2
	5
	5
	2
	2
	5
	2
	0
	3
	28
	80,00
	Tuntas

	19
	MZR
	3
	2
	3
	3
	2
	4
	1
	2
	1
	3
	24
	68,57
	Tidak Tuntas

	20
	NR
	3
	1
	5
	4
	2
	4
	4
	1
	4
	3
	31
	88,57
	Tuntas

	21
	NA
	3
	2
	4
	3
	1
	4
	3
	0
	2
	3
	25
	71,42
	Tuntas

	22
	NIT
	2
	1
	4
	2
	2
	4
	3
	2
	3
	3
	26
	74,28
	Tuntas

	23
	NH
	3
	2
	4
	3
	1
	4
	3
	0
	2
	3
	25
	71,42
	Tuntas

	24
	PMR
	3
	2
	3
	4
	1
	3
	4
	1
	1
	3
	25
	71,42
	Tuntas

	25
	SAH
	3
	1
	5
	4
	0
	0
	5
	1
	4
	3
	26
	74,28
	Tuntas

	26
	SA
	2
	0
	5
	4
	2
	3
	4
	2
	4
	3
	29
	82,85
	Tuntas

	27
	SDP
	2
	2
	2
	4
	2
	4
	3
	2
	1
	3
	25
	71,42
	Tuntas

	28
	SZA
	3
	2
	5
	4
	2
	3
	4
	2
	3
	3
	31
	88,57
	Tuntas

	29
	YA
	0
	1
	5
	5
	1
	3
	5
	1
	4
	3
	28
	80,00
	Tuntas

	30
	Z
	1
	2
	2
	5
	2
	2
	5
	2
	0
	3
	24
	68,57
	Tidak Tuntas



Hasil analisis sebagai berikut:
1. P =  x 100%  =  x 100% = 90%
2. P =  x 100%  =  x 100% = 10%
